Present Subjunctive - Reqgular -AR verbs (and
~car, -gar, -zar verbs)

9 10

11 12

13

14

15

16 17

18

19

20

21

Horizontal Vertical
1) NOSOTROS/ACTUAR 2) NOSOTROS/CONTAR
5) USTED/ALCANZAR 3) USTED/USAR
10) TU/ACABAR 4) USTEDES/ACOSTUMBRARSE
13) TU/COMENZAR 6) NOSOTROS/ALCANZAR
14) NOSOTROS/ACOSTUMBRARSE 7) TU/ACOSTUMBRARSE
17) USTED/AMAR 8) YO/ACOSTUMBRARSE
18) USTED/HABLAR 9) TU/ALCANZAR
20) USTED/ACOSTUMBRARSE 11) YO/ACOSTARSE
21) USTED/ACOSTARSE 12) NOSOTROS/ACABAR
15) TU/CAMBIAR
16) TU/ACTUAR
19) TU/AMAR




SOLUTION
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